
 SCEA نظام في التوزیع عملیات تحلیل المحور الرابع :
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SCEA في الدخل نظام  مجمعات حساب 

              (PIB,PTB) SCEA 
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PTBpm=EBE+RS+ILP-SUB+CP 
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RNMDالاستخدامات مجموع

 :     : 

90.000=SUB -   

900.000=CF -    

165.000=SRS -       

270.000=ILP -    

AM= -   210.000 

CP= -    255.000 

450.000=RS -   

600.000=EBE -    



SRPE=- -       225.000 

LOY= -   105.000 

ATFS= -    540.000 

R/BNP= -     390.000 
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RI - 

RI=RS+ILP-SUB+ENE 

=450.000+270.000-90.000+600.000-210.000 

RI=1.020.000 

RN  

RN=RI+SRS+SRPE 

=1.020.000+165.000-225.000 

RN=960.000 

RND -03  

RND=RN+ATFS 

= 960.000+540.000 

RND=1.500.000 
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1500000 RND=1500000

 



RNM 

RNM=RN+R/BNP-LOY=960.000+390.000-105.000 

RNM=1.245.000 

-05 RNMD 

RNMD=1.245.000+540.000 

RNMD=1.785.000 
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+ATFS=540.000 

CF=900.000 

ENG=885.000 

= RNMD=1.785.0001.785.000 

 


